Warm-Up:
1) Write as a single logarithm:

a) log2 + 3logx

el
b) 2|og4y |og4x
100, 4"<10g., X = 106 &)

2) Expand:

a) log,x°y?

5109,X+ 2109,y

b) log 2x _ g2 +10g X319y
y3

NC Final Exam Question of the Day

20 Which expression is equivalent to ——X "7+ X+5__ yhen s

X 4dx -2 P 48x+15
restricted so that the expressions are defined?

XX (X&) (5¥5)
AN ’7%

X+3
A

X-3
A
C 1
D 1

2| |5

ACT Question of the Day
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18. In which of the following are

ascending order?
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Review: Triangle Proofs

12.
GH _ HI
Given: IT =X ,LH=LK 13

Prove: AGHI~AJKL
Statements | Reasons

and = arranged in

mczndlnq goeS +rom

1
Tea s+ to greate
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4. Given: £ZL=«¢N, ZLOM=£ZNMO
E N
L 0

Prove: ALMO=ANOM

Reasons

1.LL ¥ <N 1.%1\/.2&')
2£L0MZ NMU (3 TGiven
3.M0 2 M0

3. Reflexive Property
4. ALMO=ANOM S

4,
oft . HU 1.gven AA_
1Jk kL 1.Given 6. Given: ST=VU ‘.
2. 4H 2 LR 2. Given
.o 3. §A S
AGH#H ~AJEL -
S
Prove: £SVT=4UTV
Statements | Reasons
1Ty =y 1. Given
27, X — 2. Reflexive Property
3LVTZAUTY  |3-HL

4. £SVT=2UTV
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Unit 6 ~ Logarithms & Exponentials
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Solving Exponential &

Logarithmic
Equations
Your Turn:
Solve for x.
1) 27° = 81 2) 52 =130
b=4d7 y:aj( x=6/ b5 y:ay X=130
‘0987 gl = 3x log 130 = A
8) = 3 ; O
lt;i?gfﬂ log 139 _ 2.
[.3 = 3= 109;5
3 = 3.0 =@
= L S =
Ao\ S

Solving Exponential Equations:

Example 1: Solve 256 = 64

b=850 x=G4 Y= 75 = 8ax
g G4=8x 3 3
a56 _ a7
0 GY = A )(_,.3 =
log 450

: Solve 6** = 512
b=zl X=512 Y= e

log, §1%= 248> % HINT:
00,512 _ tx H PUT IN
by © %= .81 LOG
FORM!

Solving Logarithmic Equations:

Example 1: Solve log(5x + 2) = 2
14nere IS No base .- - Your base s aways 1o

b= |0 X=bx+8 ysa

B _ 43 Hint:
10 _— 5X+ A Put in -
[O0= 5% _ g exponential
:—aq—g-'—f—:”b:?d form!
_19.0
x= 1 oxpanded
Jle 2: , Solve log2x? - log5 = 1
o il 2l
= [ a
T BeiD = 22X )
g Sl R



